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ORIENTAL BANK OF COMMERCE

TEST -1

TESTOF REASONING

Q.1. Among P, Q, R, S and T, each having different weight, R is heavier than only P. S is lighter thanQ and
heavier than T.Who among them is the heaviest?

a)Q

b) P

c)S

d) Data inadequate

e) None of these

Q.2. What should come next in the following number series?
876543217654321654321

a)6

b) 4

c)7

d) 5

e) None of these

Q.3. In a certain code language, 'come now' is written as 'ha na'; 'now and then' is written as 'pa dana’
and 'go then' is written as 'sa pa'. How is 'and' written in that code language?

a)sa

b)pa

c)na

d) Cannot be determined

e) None of these

Q.4. Each consonant in the word DISTEMPER is replaced by the next letter in the English alphabetand
each vowel in the word is replaced by the previous letter in the English alphabet, which of thefollowing
will be the fourth letter from the right end after the replacement?

a)T

b) M

c)S

d)p

e) None of these

Q.5. How manymeaningful English words can be made with the letters NDOE using each letter onlyonce
in each word?

a)None

b)One

c)Two

d) Three

e) More than three

Q.6. Four of the following five are alike in a certainway and so form a group.Which is the one that
doesnot belong to that group?
a) BD
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b)NQ
c) RP
d) MK
e) FH

Q.7. In a certain code GEAR is written as '5934' and RIPE is written as '4869'. How is PAGE written inthat
code?

a) 6359

b) 6539

c) 4359

d) 6459

e) None of these

Q.8. How many such digits are there in the number 64382179 each of which is as far away from
thebeginning of the number as when the digits are arranged in ascending order within the number?
a)None

b)One

c)Two

d) Three

e) More than three

Q.9. Four of the following five are alike in a certainway and so form a group.Which is the one that
doesnot belong to that group?

a) 39

b) 91

c)78

d) 52

e) 45

Q.10. Howmany such pairs of letters are there in the wordORDINAL each of which has asmany
lettersbetween them in the word as in the English alphabet?

a)None

b)One

c)Two

d) Three

e) More than three

Read the following information carefully and answer the questions which follow:
(i) 'P x Q' means 'P is brother of Q'.

(ii) 'P + Q' means 'P is sister of Q'.

(iii) 'P - Q' means 'P is mother of Q'

(iv) 'P + Q' means 'P is father of Q'.

Q.11. Which of the following means 'D is maternal uncle of K'?

a)D+N-K
b) D+ N+K
c)DXN-K

d) DX N +K
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e) None of these

Q.12. Which of the following means 'M is nephew of R'?
a) MX T+R

b) R+J + MX T

C)R+J+M

d)RXJ+M

e) None of these

Following questions are based on the five three-digit numbers given below:
519 378 436 624 893

Q.13. If the positions of the first and the third digits within each number are interchanged, which of
thefollowing will be the second smallest number?

a) 519

b) 378

c) 436

d) 624

e) 893

Q.14. If '1"is subtracted from the first digit in each number and '1' is added to the second digit in
eachnumber, which of the following will be the third digit of the second highest number?

a)9

b) 8

c)6

d)4

e)3

Q.15. If the positions of the first and the second digits within each number are interchanged, which
ofthe following will be the highest number?

a) 519

b) 378

c) 436

d) 624

e) 893

Study the following information carefully and answer the questions given below:

M, D, P, K, R, T andW are sitting around a circle facing at the center. D is second to the right ofP who is
third to the right of K. T is third to the right of W who is not an immediate neighbour ofD. M is third to
the left of R.

Q.16. Who is third to the left of D?
a)w

b) P

c)K

d) Data inadequate

e) None of these
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Q.17. Who is to the immediate left of M?
a)K

b)wW

c)D

dT

e) None of these

Q.18. In which of the following pairs is the second person sitting to the immediate right of the
firstperson?

a)DT

b) TP

c) PR

d) Kw

e) None of these

Q.19. Who is second to the right of T?
a)D

b) K

M

d) Data inadequate

e) None of these

Q.20. Who is to the immediate left of R?
a)W

b) P

c)K

dT

e) None of these

In each of the questions beloware given three statements followed by three conclusions numberedl, Il &
lll. You have to take the given statements to be true even if they seem to be at variance fromcommonly
known facts. Read all the conclusions and then decide which of the given conclusionslogically follows
from the given statements disregarding commonly known facts.

Q.21. Statements:Some books are papers. Some papers are desks. Some desks are chairs.
Conclusions: I. Some books are desks. Il. Some papers are chairs.lll. Some books are chairs.
a) None follows

b) Only | follows

c) Only Il follows

d) Only Ill follows

e) Only | and Il follow

Q.22. Statements:All pins are rods. Some rods are chains. All chains are hammers.
Conclusions: I. Some pins are hammers. Il. Some hammers are rods.lll. No pin is hammer.
a) Only | follows

b) Only Il follows

c). Only 1l follows

d) Only either I or lll and Il follow
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e) None of these

Q.23. Statements:Some buses are trucks. Some trucks are boats. No boat is jeep.
Conclusions: I. Some jeeps are buses. Il. Some boats are buses.lll. Some jeeps are trucks.
a) None follows

b) Only 11l follows

c) Only | follows

d) Only Il follows

e) Only Il and lll follow

Q.24. Statements:All tables are sofas. All sofas are beds. All beds are mats.
Conclusions: I. Some mats are sofas. Il. Some beds are tables.lll. Some mats are tables.
a) Only I and Il follow

b) Only Il follows

c) Only Il and Il follow

d) Only I and llI follow

e) All follow

Q.25. Statements:Some pots are buckets. All buckets are tubs. All tubs are drums.
Conclusions: I. Some drums are pots. Il. All tubs are buckets.lll. Some drums are buckets.
a) Only I and Il follow

b) Only I and Il follow

c) Only Il and Il follow

d) All follow

e) None of these

Q.26. Statements:All pins are bags. All chalks are bags. All needles are bags.
Conclusions: I. Some needles are pins. Il. Some chalks are needles.lll. No needle is pin.
a) Only | follows

b) Only 11l follows

c) Only either I or Il follows

d) Only either | or lll and Il follow

e) None of these

Q.27. Statements:All flowers are trees. All trees are jungles. No jungle is hill.
Conclusions: I. No flower is hill. Il. No tree is hill.lll. Some jungles are flowers.
a) None follows

b) Only I and Il follow

c) Only I and Il follow

d) Only Il and Il follow

e) All follow

Study the following arrangement carefully and answer the questions given below:
R%ESD2#9AFB@J3IKM41WUBVON*GZ5 67

Q.28. How many such symbols are there in the above arrangement, each of which is
immediatelyfollowed by a consonant and immediately preceded by a number?
a)None
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b)One

c)Two

d) Three

e) More than three

Q.29. Which of the following is the fifth to the left of the sixteenth from the left end of the
abovearrangement?

a)B

b) U

)W

d)N

e) None of these

Q.30. Which of the following is the seventh to the right of the fourteenth from the right end?
a)B

b) #

c)N

dyu

e) None of these

Q.31. How many such consonants are there in the above arrangement, each of which is
immediatelypreceded by a number and immediately followed by a letter?

a)None

b)One

c)Two

d) Three

e) More than three

Q.32. Howmany such vowels are there in the given arrangement, each of which is immediately
precededby a number but not immediately followed by a number?

a)None

b)One

c)Two

d) Three

e) Four

Q.33. Four of the following five are alike in a certainwaybased on their positions in the given
arrangementso form a group. Which is the one that does not belong to that group?

a)DHE

b) © *8

c)BJA

dMIW

e)G5N

Q.34. What should come in the place of question mark (?) in the following series based on the
givenarrangement?

ED2 9FB 3KM?

a) W80©



For more materials visit www.educationobserver.com/forum

b) UVO
c)Wuv
d)wsv
e) None of these

Q.35-40.In the following questions, the symbols ©,@,S, % and are used with the following meaning
asillustrated below:

'PO Q' means 'P is either greater than or equal to Q'.

"P % Q' means 'P is either smaller than or equal to Q'.

*P@Q means 'P is neither smaller than nor greater than Q'.

'PS Q' means 'P is smaller than Q'.

'P Q' means 'P is greater than Q'.

Nowin each of the following questions assuming the given statements to be true, find which of thetwo
conclusions | and Il given below them is/are definitely true?

Give answer a) if only Conclusion I is true.

Give answer b) if only Conclusion Il is true.

Give answer c) if either Conclusion | or Il is true.

Give answer d) if neither Conclusion | nor Il is true.

Give answer e) if both Conclusions | and Il are true.

Q.35. Statements:B@ N,NO T, TS K
Conclusions: . T@BII.TSB

Q.36. Statements:HO T, T% M, M F
Conclusions: . FSTI.HM

Q.37. Statements:BT, TSH H@ M
Conclusions: 1. M Il.BH

Q.38. StatementssW % V,V@ Z,Z© D
Conclusions: 1. D % V Il. W%Z

Q.39. Statements:RSJ,JF, F% H
Conclusions: I.HJII.RSF

Q.40. Statements:M % R, RS T, T© K
Conclusions: . TMII.R$ K

Q.41. Statements:)D,D @ N, N % F
Conclusions: . JFI.FO D

Study the following information carefully and answer the given questions:

Aword and number arrangementmachinewhen given an input line ofwords and numbers
rearrangesthem following a particular rule in each step. The following is an illustration of input
andrearrangement.

Input:basket 83 32 all turn 76 51 now

Step l:turn basket 83 32 all 76 51 now



For more materials visit www.educationobserver.com/forum

Step ll:turn 32 basket 83 all 76 51 now

Step lll:turn 32 now basket 83 all 76 51

Step IV:turn 32 now 51 basket 83 all 76

Step V:turn 32 now 51 basket 76 83 all

Step VI:turn 32 now 51 basket 76 all 83 and Step VI is the last step of the rearrangement of the above
input.

As per the rules followed in the above steps, find out in each of the following questions the appropriate
step for the given input.

Q.42. Input: 49 box store 84 63 on door 37Which of the following will be Step V of the above input?
a)store 37 on 49 door 63 box 84

b)store 37 on 49 door box 84 63

c)store 37 on 49 box 84 63 door

d) There will be no such step

e) None of these

Q.43. Input: 20 ask never 35 62 84 tall grass

Which of the following steps will be the last but one?
a)Vv

b) VI

c)Iv

d)vi

e) None of these

Q.44. Input: bag full 32 84 27 coin new 56

Howmany steps will be required to complete the rearrangement?
a)Seven

b) Eight

c) Five

d) Six

e) None of these

Q.45. Input: slow wheel 32 57 high lake 12 46

Howmany steps will be required to complete the rearrangement?
a) Five

b) Six

c)Seven

d) Eight

e) None of these

Q.46. Step IV of an input is :year 14 team 22 63 54 goal house
Which of the following steps will be the last?

a) IX

b)VII

c) Vil

d)vi

e) None of these
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Q.47. Step lll of an input is : yes 15 ultra 96 73 52 home rest
Howmanymore steps will be required to complete the rearrangement?
a) Three

b) Five

c) Four

d)Two

e) None of these

Q.48. Step Il of an input is:window 14 victory 63 52 24 task for
Which of the following is definitely the input?

a)victory 63 window 14 52 24 task for

b) 63 victory window 14 52 24 task for

c)victory 63 window 52 14 24 task for

d) Cannot be determined

e) None of these

In each question below is given a group of letters followed by four combinations of digits/symbols
numbers a), b), c) and d). You have to find out which of the combinations correctly represents the group
of letters based on the coding systemandmark the number of that combination as your answer. If none
of the combinations correctly represents the group of letters,marke) i.e. 'None of these as your answer.
LETTER-MATWREKIHFUBNP

DIGIT/SYMBOL/CODE:4@37©28%1#5$695

Conditions :

(i) If both the first and the last letters are consonants, both are to be coded as the code for the first
letter.

(i) If both the first and the last letters are vowels, both are to be coded as the code for the last letter.
(iii) If the first letter is a vowel and the last letter is a consonant, the codes are to be interchanged.

(iv) If the first letter is a consonant and the last letter is a vowel, both are to be coded as *.

Q.49. AEBRMH
a) @26041

b) 12604 @

c) 126041

d) @2604@

e) None of these

Q.50. HBEAFU
a) 162@#S$

b) * 62@#*

c) 162@#1

d) $62@#1

e) None of these

Q.51. BKNIRT
a) 689%0©6
b) 689%0©3
c) 698%0©3
d) 389%0©3
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e) None of these

Q.52. KFUBNA
a) *#S69*

b) 8#S69@

c) 8#5698

d) @#569@

e) None of these

Q.53. IRFAME

a) 20#@4%

b) 20#@42
C)%O#@4%

d) *o#@4*

e) None of these

Q.54. MRTPFW
a) 4035#7

b) 7©35#4

c) 7035#7

d) 4035#4

e) None of these

Q.55. ENTHWR
a) 293170

b) 293172

c) ©93170

d) *9317*

e) None of these

Below in each question are given two statements (A) and (B). These statements may be
eitherindependent causes ormay be effects of independent causes or a common cause.One of
thesestatementsmay be the effect of the other statement. Read both the statements and decide
whichof the following answer choice correctly depicts the relationship between these two statements.
Mark answer a) if statement (A) is the cause and statement (B) is its effect.

Mark answerb) if statement (B) is the cause and statement (A) is its effect.

Mark answerc) if both the statements (A) and (B) are independent causes.

Mark answerd) if both the statements (A) and (B) are effects of independent causes.

Mark answere) if both the statements (A) and (B) are effects of some common cause.

Q.56.
(A) The prices of vegetables have increased substantially during past few weeks.
(B) Consumer price index at the end of previous week was increased by 2 percent.

Q.57.
(A) Many employees of the company proceeded on a day's leave on Friday.
(B) Both Thursday and Saturday were declared holiday by the company.
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Q.58.
(A) Many anti-social elements are caught by the police from the locality.
(B) Many people in the locality are detained by the police for questioning.

Q.59.
(A) Many pilgrims used Govt. transport to travel to the holy shrine.
(B) The cost of travel by private transport is very high.

Q.60.
(A) There have been heavy rains in the catchment area of the lakes supplying drinking water tothe city.
(B) The municipal authority has suspended the proposed cut in water supply to the city.

Below is given a passage followed by several possible inferences which can be drawn from the facts
stated in the passage. You have to examine each inference separately in the context of thepassage and
decide upon its degree of truth or falsity.

Mark answer a) if the inference is 'definitely true', i.e. it properly follows from the statement offacts
given.

Mark answer b) if the inference is 'probably true' though not 'definitely true in the light of thefacts
given.

Mark answer c) if the 'data are inadequate, i.e. from the facts given you cannot say whetherthe
inference is likely to be true or false.

Mark answer d) if the inference is 'probably false', though not 'definitely false' in the light of thefacts
given.

Mark answere) if the inference is 'definitely false', i.e. it cannot possibly be drawn from thefacts given or
it contradicts the given facts.

Domestic steel industry has been going through challenging times with rawmaterial prices
risingunabated and government trying to cap final product (steel) prices in order to keep inflation
undercheck. Notably, the government has taken several measures in the past six months to keep acheck
on steel prices, which contribute around 3.63%0fWPI. Now, after holding prices for threemonths the
battle between the government and steel players has erupted again. With the anticipation of players
increasing prices very soon, government is trying to counter this with theimposition of a price band on
steel products. Imposition of price band may unfairly treat thedomestic steel industry as global steel
prices are ruling at 30% premium to domestic prices.

Global prices have increased by 50%-60%in 2008 as compared to just 20%rise in the domesticmarket.

Q.61. In recent past, the increase of steel prices in the international market is much lower than that
inthe domestic market.

Q.62. Some countries in the western world have fixed a price band for steel products in their
domesticmarkets.

Q.63. There has been a decline in rate of inflation in recent months in India.

Q.64. Govts. move to fix a price band of steel pricesmay adversely affect the steelmanufacturing unitsin
India.

Q.65. Prices of steel is an integral part of the Wholesale Price Index (WPI) of India.
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In each of the questions there are two sets of figures. The figures on the left are problem
Figures (four figures and one question-marked space) and those on the right are Answer Figures
Indicated by numbers 1, 2, 3, 4 and 5.

Q.66. _ , . _—
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Q.73.
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Q.74.
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Q.75.
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TEST - I

QUANTITATIVEAPTITUDE

What approximate value should come in place of question mark (?) in the following questions? (You are
not expected to calculate the exact value.)

Q.76. (54.78)* =?
a) 3000
b) 3300
c) 3500
d) 3700
e) 3900

Q.77. (7171 + 3854 + 1195) + (892 + 214 + 543) =?
a) 13

b) 18

c)3

d) 26

e)7

Q.78. (562% of 8 16) + 1449 =?
a) 4145
b) 5675
c) 6035
d) 7325
e) 8885
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Q.79.v84111=?
a) 240
b) 270
c) 330
d) 290
e) 310

Q.80. 63251 x 82 =?* 42105
a) 101
b) 123
c) 147
d) 165
e) 189

What should come in place of question mark (?) in the following number series?

Q.81. 16 24 48 120 360 1260?
a) 3780
b) 4725
c) 5355
d) 5040
e) 4410

Q.82. 499 622 868 1237 1729 2344?
a)3205
b) 3082
c) 2959
d) 3462
e) 2876

Q.83. 8 31 122 485 1936 7739?
a) 30950
b) 46430
c) 934650
d) 42850
e) 38540

Q.84. 529 841 961 1369 1681 1849?
a) 2809
b) 2601
c) 3249
d) 3481
e) 2209

Q.85. 2024334974 1107
a) 133
b) 147
c) 159
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d) 163
e) 171

What should come in place of question mark (?) in the following questions?
Q.86.811.81 +88.11+0.88 +1.88+ 8 =?

a) 910.68

b) 912.56

c) 904.88

d) 902.67

e) None of these

Q.87. 22440 +/7 = 34 x 12
a) 55

b) 3136

c) 65

d) 3025

e) None of these

Q.88. 3402 +? =/26244
a) 162

b) 21

c) 441

d) 42

e) None of these

Q.89. 8451 + 793 + 620 -? = 6065 + 713
a) 4912

b) 4712

c) 4312

d) 4512

e) None of these

Q.90.81+20x0.75-9=?
a) 97

b) 107

c) 87

d) 77

e) None of these

Q.91. In a class of 35 students and 6 teachers, each student got sweets that are 20% of the total number
of students and each teacher got sweets that are 40% of the total number of students. How many
sweets were there?

a) 245

b) 161

c) 406

d) 84

e) None of these
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Q.92. One-third of a number is 96. What will 67% of that number be?
a) 192.96

b) 181.44

c) 169.92

d) 204.48

e) None of these

Q.93. Tanvi started a business investing Rs. 45,000/-. After 8 months Anisha joined her with a capital of
Rs.52,000/-. At the end of the year the total profit was Rs.56,165/-.What is the share of profits of
Anisha?

a) Rs.21,450/-

b) Rs.24,440/-

c) Rs.27,635/-

d) Rs.31,765/-

e) None of these

Q.94. The ages of Sonal and Nitya are in the ratio of 9 : 5 respectively. After 8 years the ratio of their
ages will be 13 : 9. What is the difference in years between their ages?

a) 4 years

b) 12 years

c) 6 years

d) 14 years

e) None of these

Q.95. 30 men can do a piece of work in 16 days. How many men would be required to do the same work
in 20 days?

a) 12

b) 36

c) 48

d) 24

e) None of these

Q.96. The product of two successive numbers is 4032.Which is the greater of the two numbers?
a) 63

b) 64

c) 65

d) 66

e) None of these

Q.97. The profit earned after selling an article for Rs.1,516/- is the same as loss incurred after selling the
article for Rs.1,112/-. What is the cost price of the article?

a) Rs. 1,314/-

b) Rs.1,343/-

c) Rs. 1,414/-

d) Rs. 1,434/-

e) None of these

Q.98. By how much is 1/4th of 428 smaller than 5/6th of 216?
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a) 61
b) 67
c)73
d) 79
e) None of these

Q.99. The compound interest accrued on an amount of Rs. 22,000/- at the end of two years is
Rs.5,596.8. What would be the simple interest accrued on the same amount at the same rate in the
same period?

a) Rs.5,420/-

b) Rs.5,360/-

c) Rs.5,280/-

d) Rs.5,140/-

e) None of these

Q.100. Prithvi spent Rs.89,745/- on his college fees, Rs.51,291/- on Personality Development Classes and
the remaining 27% of the total amount he had as cash with him. What was the total amount?

a) Rs.1,85,400/-

b)Rs.1,89,600/-

c) Rs.1,91,800/-

d) Rs.1,93,200/-

e) None of these

Each question below is followed by two statements A and B. You are to determine whether the data
given in the statement is sufficient for answering the question. You should use the data and your
knowledge of Mathematics to choose between the possible answers.

Give answer a) if the statement A alone is sufficient to answer the question, but the statement B alone is
not sufficient.

Give answer b) if the statement B alone is sufficient to answer the question, but the statement A alone
is not sufficient.

Give answer c) if both statements A and B together are needed to answer the question.

Give answer d) if either the statement A alone or statement B alone is sufficient to answer the question.
Give answer e) if you cannot get the answer from the statement A and B together, but need evenmore
data.

Q.101. Is X an even number?
A. X is divisible by 2
B. X + an odd number is an odd number.

Q.102. The ages of Tanish and Shivay are in the ratio of 6 : 5. What is the age of Shivay?
A. The ages of Tanish and Danish are in the ratio of 3 : 2.
B. After 6 years the ratio of Danish's and Shivay's ages will be 7 : 6.

Q.103. In how many days 15 men can complete a piece of work?
A. If 16 children can complete the same piece of work in 48 days.

B. If 9 men can complete the same piece of work in 27 days.

Q.104. What is the salary of C, in a group of A, B, C, D, E and F whose average salary is Rs. 60,600/-?
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A. Total of the salary of A and E is Rs. 64,500/-.
B.Total of the salary of B and F is Rs. 52,600/-.

Q.105. What is the three digit number?
A. One-third of that number is less by 27 of the half of that number.
B. One-fifth of that number is 20% of that number.

Study the following table carefully to answer the questions that follow:-
NUMBER OF STUDENTS PASSED AND FAILED IN FIVE CLASSES OF ASCHOOL OVERTHEYEARS

CLASSES
YEAR Vi Vil Vil IX X
Passed | Failed | Passed | Failed | Passed | Failed | Passed | Failed | Passed | Failed

2003 93 06 84 09 65 10 80 10 75 13
2004 87 09 92 09 72 04 96 11 91 06
2005 76 12 77 10 91 07 72 15 80 04
2006 80 10 63 12 61 07 62 13 78 12
2007 69 07 80 13 76 03 78 08 66 09
2008 58 04 71 15 84 08 60 06 59 14

Q.106. Which of the following class has the maximum number of failed students over the years?
a) Vi

b) Vil

c) Vil

d) IX

e) None of these

Q.107. What is the average number of failed students from class VI for the given years?
a) 8

b) 7

c)9

d)6

e) None of these

Q.108. What is the total percentage of passed students of class X from all the years together (rounded
off to two digits after decimal)?

a) 86.94

b) 83.26

c) 80.08

d) 88.56

e) None of these

Q.109. What is the ratio of the total number of passed students to total number of failed students for
the year 2005?
a)4:33
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b)11: 1

c)33:4

d)g:1

e) None of these

Q.110. What is the number of passed students, for all the classes together, in the year 20077?
a) 369

b) 344

c) 332

d) 438

e) None of these

Study the table carefully to answer the questions that follow:-
Course-wise Number of Students in different Cities

Course City MFC MIB MCA MBM MPM
Ahmedabad 1234 1384 1440 1289 1332
Bengaluru 1156 1783 1874 1003 1340
Bhopal 1187 1347 1532 1532 1486
Chennai 1342 1473 1129 1129 1666
New Delhi 1230 1098 1128 1128 1777
Hyderabad 1456 1234 1556 1556 1789
Kolkata 1239 1785 1865 1865 1762

Q.111. InChennai, the number of MFC students is approximatelywhat percent of that ofMPMstudents?
a) 69
b) 90
c)94
d) 73
e) 81

Q.112. In Ahmedabad, the number of MBM students is approximately what percent of that of MCA
students?

a) 66

b) 71

c) 84

d) 87

e) 90

Q.113. What is the difference between total number ofMIB andMFCstudents from all the cities
together?

a) 1140

b) 1260

c) 1330

d) 1480

e) None of these
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Q.114. Which City has the highest number of students?
a) Ahmedabad

b) Bengaluru

c) Chennai

d) Kolkata

e) None of these

Q.115. What is the approximate average number of students enrolled in MIB course from all the cities
together?

a) 1263

b) 1165

c) 1443

d) 1503

e) 1349

Study the following pie-chart carefully to answer the questions that follow:
Degree wise break-up of expenditure of a family in amonth
Total amount spent in a month is Rs. 45,800/-

Investments
Groceries; 54 Entertainment;
g2.8 36
ina: Medicine;
Shopping; )
52?4 ¢ 39.6
Commuting;
79.2

Q.116. What is the amount spent by the family on Commuting?
a) Rs.10,076/-

b) Rs.10,534/-

c) Rs.6,870/-

d) Rs.8,702/

e) None of these

Q.117. Total amount spent by the family on Groceries, Entertainment and investments together forms
approximately what percent of amount spent on Commuting?

a) 209

b) 76

c) 154

d) 42

e) 218

Q.118. Amount spent by the family on Medicine forms what percent of amount spent on
Shopping?(rounded off to two digits after decimal)
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a) 43.67
b) 49.52
c) 57.89
d) 61.89
e) None of these

Q.119. What is the respective ratio of amount spent by family on Medicine to the amount spent on
Groceries?

a)1:2

b) 13:21

c) 3:5

d) 11:23

e) None of these

Q.120. What is the total amount spent by the family on Entertainment and Shopping together?
a) Rs.9,618/-

b) Rs.13,282/-

¢) Rs. 13,740/-

d) Rs.11,908/-

e) None of these

Study the following graph carefully to answer the questions that follow:-
Total Number of Boys and Girls in Five Different Departments

M Boys
OGirls

Q.121. What is the respective ratio of number of girls from Philosophy Department to the number of
girls from Psychology Department?

a) 1:2

b) 7:12

c)5:12

d)3:4

e) None of these

Q.122. What is the average number of boys from all the Departments together?
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a) 122
b) 126
c) 130
d) 134
e) None of these

Q.123. The number of boys from Anthropology Department is approximately what percent of the total
number of boys from all the Departments together?

a) 15

b) 23

c)31

d) 44

e) 56

Q.124. What is the difference between the total number of boys and the total number of girls from all
the Departments together?

a) 440

b) 520

c) 580

d) 460

e) None of these

Q.125. The number of girls from Biology Department is approximately what percent of the total number
of girls from all the Departments together?

a) 32

b) 21

c) 37

d) 43

e) 27

TEST - 11l
GENERAL AWARENESS

Q.126. Which of the following organization has estimated 2008-09 growth rate at 7.5-8 percent?
a) SBI

b)RBI

c)World Bank

d) ADB

e) None of these

Q.127. Where was fourth national convention of Global Computer Society held?
a) Hyderabad

b) Mumbai

c) Delhi

d) Chennai

e) None of these

Q.128. What is the estimated health care cost (per annum) in India?
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a) Rs. 70,000 cr
b) Rs. 60,000 cr
c) Rs. 80,000 cr
d) Rs. 10,000 cr
e) None of these

Q.129. Saraswat Co-operation Bank has received license to open howmany new branches in India?
a)9

b) 10

c)14

d) 5

e) None of these

Q.130. Recentlywhich of the following bank has received U.S Government approval to open its first U.S
branch in New YorkCity?

a)Saraswat Co-operation Bank Corp.

b) China Construction Bank Corp.

¢) Mumbai Construction Bank Corp.

d)S.B. 1

e) None of these

Q.131. TheWorld Bank has unveiled a $ 2 bn........... to help the world's poorest countries cope up with
the worst global financial crisis.

a) Immediate facility

b) Essential facility

c¢) Long-run facility

d) Fast-track facility

e) None of these

Q.132. By which year Rs. 4000 crore refinance facility would be given to the National Housing Bank?
a) 2010

b) 2011

c) 2015

d) 2009

e) None of these

Q.133. Which of the following statements is/are TRUE about Helen Keller Award?

(A) Award has been given in recognition of its contribution promoting employment opportunities for
differently disabled people.

(B) ITC Limited has been conferred the Hellan Kellar award for the 3rd time

(C) IndiaMart.com has been conferred Hellan Kellar award

a)Only Aand C

b) Only A and B

¢)OnlyBand C

d) All are true

e) None of these

Q.134. Alexy Il, who died recently belongs to which country?
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a) US.A

b) Russia

c) Zambia

d) Colombia

e) None of these

Q.135. What is the extension of SED?
a) Strategic Essential Dialogue

b) Strategic Economic Dialogue

c) Strategic Effective Dialogue

d) Strategic Enhanced Dialogue

e) None of these

Q.136. What is India's External debt in proportion to G.D.P?
a) 18.9%

b) 14.8%

c) 16.2%

d) 21.3%

e) None of these

Q.137. When is International Day for Disabled Person's celebrated?
a) 3 Dec.

b) 5 Dec.

c) 2 Dec.

d) 11 Dec.

e) None of these

Q.138. Which of the following statement (s) is/are TRUE about Gross Fertilizer Subsidy in 2008-097?
(A) The govt. pegged gross fertilizer subsidy for this year at Rs. 1, 16,278/-

(B) It is about Rs. 16,000 crore more than its earlier estimates.

(C) Of total subsidy, imports of DAP and muriate of Potash account for the maximum share.
a)Only Aand B

b) Only Band C

c)OnlyAandC

d) All are true

e) None of these

Q.139. According to international health experts report, India and China account what percentage of
world's smoker?

a) 40%

b) 35%

c) 20%

d) 25%

e) None of these

Q.140. Which of the following statement(s) is/are TRUE about India and China?
(A) A 137 member team of Chinese people’s liberation army landed in Pune for the first-ever sino-Indian
joint army exercises on Indian soil
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(B) India and China held first joint naval exercise in 2003.

(C) A 37 member team of Chinese people's liberation army landed in Pune.
a)Only Aand B

b) Only Band C

c)OnlyAandC

d) All are true

e) None of these

Q.141. Where has world's first biodegradable computer IAMECO, manufactured from biodegradable
wood panel been set?

a) Russia

b) Dublin

c) Ireland

d) Poland

e) None of these

Q.142. Which of the following statement(s) is/are TRUE about atomic energy agreement?

(A) Russia becomes the third country to sign an atomic energy agreement with India.

(B) The United States and France are other powers who have signed agreement with New Delhi.
(C) Moscow has already build two, 1000 MW light water reactor at the site.

a)Only Aand B

b) Only Band C

c)OnlyAandC

d) All are true

e) None of these

Q.143. In which sector Qatar invested $5bn in India as a part of New Delhi's effort to shore up slowing
economic pace?

a) Energy and Fertilizer Project

b) Energy and Infrastructural Development

c) Road Development Project

d) Health Project

e) None of these

Q.144. "Sejil" a missile tested recently by Iran is—
a) Surface- to surface missile

b) Surface to sea missile

¢) Surface to air missile

d) Air to air missile

e) None of these

Q.145. Recently Rupiah Banda was in news, he is—
a) President of New Zealand

b) President of Zambia

c¢) PrimeMinister of Zambia

d) PrimeMinister of NewZealand

e) None of these
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Q.146. For which of the following project Central Government has approved Rs. 25300 cr?
a) Rural Health Mission

b) Supply of Potable water in rural areas

c) Fertilizer subsidy

d) For minimum support price of wheat

e) None of these

Q.147. Which organization approved an amount of $2.75 bn to fight AIDS, tuberculosis and malaria for
two years?

a)World Bank

b) ADB

c) Global Fund

d) IMF

e) None of these

Q.148. Who is the winner of Masters Cup Tennis single title?
a)RafelNadal

b) Robert Russel

c) Roger Federer

d) Novak Djokovic

e) None of these

Q.149. Which statements is true regarding the declaration laid out inG-20 Summit to avoid future crisis?
a) Strengthening transparency and accountability particularly the valuation of complex, liquid products
and the creation of single, high quality global standard

b) Enhancing sound regulation, Bank capital and Executive compensation.

c) Promoting integrity in financial markets by getting national and regional authority to work together
and promote information sharing.

d)All1,2and 3

e) None of these

Q.150. Which country has offered India a "Joint investigation mechanism" to probe Mumbai attack?
a) US.A

b) Pakistan

c) Britain

d) Russia

e) None of these

Q.151. Which session of India-Russia Inter-Governmental commission on trade, Economics, Scientific,
Technological and cultural cooperation held in India?

a) 20th session

b) 13th session

c¢) 14th session

d) 17th session

e) None of these

Q.152. Which of the following statements(s) is/are TRUE about India-CISRoundtable onHydrocarbons?
a) The third India-CIS Roundtable on Hydrocarbons was held in N. Delhi
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b) Motive of the conference was to search for the ways to secure greater access to central Asia's
Hydrocarbon treasure

c) Both a) and b)

d) None is true

e) None of these

Q.153. Where did Indian Navy hostedMILAN programme?
a) Lakshadweep Islands

b) Andaman and Nicobar Islands

c)Goa

d) Bombay High

e) None of these

Q.154. Which of the following statement(s) is/are TRUE about the "Third South Asian conference" on
sanitation which concluded at New Delhi?

(A) Delhi declaration recognizes that access to sanitation and safe drinking water is a basic right, and
accords national priority to sanitation.

(B) It confirms commitment to achieve national andmillenniumdevelopment goals on sanitation in a
time bound manner in all participating countries of South Asia.

(C) It asserts that achieving total and sustainable sanitation in all rural and urban communities in
member countries is not only possible but also a cherished goal.

a)OnlyA&B

b)OnlyB& C

c)OnlyA&C

d) All are true

e) None of these

Q.155. What will be the cost of setting up of UNESCO regional centre for training and education in
biotechnology at Faridabad?

a) Rs. 99.55 cr.

b) Rs. 80 cr.

c) Rs. 60 cr.

d) Rs. 110.4 cr.

e) None of these

Q.156. Which initiative has been included by government in its Urban Sanitation Policy?
a)NirmalShaharPuraskar

b) Safe Environment Award

c)SwachhaShaharPuraskar

d) Environment Protection Award

e) None of these

Q.157. Recently, India and Egypt signed five agreements, what is current level of bilateral trade between
the two countries?

a) $ 10bn

b) $S3bn

c) $5bn

d) $7bn
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e) None of these

Q.158. What is "Bhuvan" which was recently in news?

a) Itis a project launched by central government to increase area under forest
b) It is a satellite mapping tool

c) It is another version of "Prithvi"

d) It is five year plan to protect forest

e) None of these

Q.159. S.D.R stands for—
a) Special Dollar Rights
b) Special Drawing Rights
c) State Drawing Rights
d) Specific Dollar Rights
e) None of these

Q.160. Which commission in India is dealing with minimum support price, procurement price etc, in
connection with agricultural goods?

a) Planning commission

b) Agricultural cost and Price commission

c) Agricultural Price commission

d) National Market Commission

e) None of these

Q.161. Which of the following is not a quantitative credit control technique?
a) Bank Rate

b) Cash Reserve Ratio

c) Statutory Liquidity Ratio

d) Increase in interest rate on saving deposits

e) None of these

Q.162. What is Green Banking?

a) Financing of irrigation projects by banks

b) Development of forestry by bank

c¢) Financing of environmental friendly projects by banks
d) 2 and 3 both

e) None of these

Q.163. Which is the development expenditure?
(A) Irrigation expenditure

(B) Civil Administration

(C) Debt services

a) Only A

b) Only B

c)OnlyAorB

d)OnlyBand C

e) All
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Q.164. With the inclusion of shipping corporation of India recently in the list of NavRatna PSUs, what is
their number at present?

a) 12

b) 17

c)9

d) 8

e) None of these

Q.165. Who bagged Rs. 240 crore order of Mundra Project?
a) BHEL

b) Reliance

c) Tata Power's

d)NTPC

e) None of these

Q.166. According to "Sustainable Development Index" Tata Group has emerged as leader, this Index is
prepared by—

a) Indian Telecom

b) British Telecom

c) U.S Telecom

d) Either2 or3

e) None of these

Q.167. What economic growth rate has been projected by CMIE for the financial year 2008-2009?
a) 8.9%

b) 7.5%

c) 8.2%

d) 8.5%

e) None of these

Q.168. What percent of the world's population has an internet access?
a) Less than 17%

b) 17%—-22%

) 25%-30%

d)Above 30%

e) None of these

Q.169. Where was Indo-Russian joint naval exercise INDRA-2009 conducted?
a) Bay of Bengal

b) Atlantic Ocean

c) Pacific ocean

d) Indian Ocean

e) None of these

Q.170. Which of the following infrastructure projects in not among the seven projects that will get
special regulatory treatment?

a) GTL infrastructure Project

b) Nandi Economic Corridor Enterprises
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c)Kanaseema Gas Power
d) Delhi Gurgaon Super Connectivity
e) None of these

Q.171. How many wickets Anil Kumble took in the test cricket?
a) 615

b) 617

c) 600

d) 659

e) None of these

Q.172. What is Powertrac 44557
a) Satellite

b)Water pump

c) Aircraft

d) Missile

e) None of these

Q.173. Which of the following statement(s) is/are TRUE about India-U.S defence deal?

(A) It will be around Rs. 8500 crore contract for Supply of eight Boeing P-8| LRMR aircraft for the Navy
(B) P-8lI aircraft will also be armed with harpoon missiles, torpedoes and depth bombs.

(C) The LRMR deal will supplant 2007's $962 million contract signed with U.S.

a)OnlyA&B

b) OnlyB& C

c)OnlyA&C

d) All

e) None of these

Q.174. How much oil production has been cut daily by OPEC from 2009?
a) 2 mn barrels

b) 2 bn barrels

c) 1.5 mn barrels

d) 1.5 bn barrels

e) None of these

Q.175. What is the estimated loss to India due to 26/11 Mumbai attacks?
a) $1bn

b) $ 2bn

c)$50 mn

d) $90 mn

e) None of these

TEST - IV
ENGLISHLANGUAGE

Read the following passage carefully and answer the questions given below it. Certain words have been
printed in bold to help you to locate them while answering some of the questions.
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We have witnessed several disasters in recent times, some natural others man made.
Thefrequency of such calamities has inured us and deadened our collective sensitivity, but that does not
reduce the enormity of the personal tragedy of each victim's family and community. The economic loss
is only secondary to the human suffering, but is also substantial. The Government whether State or
Central has standardized its response. This consists of reacting late, blaming others, visits by VIPs,
announcing a relief package including compensation for those affected and then forgetting all about it.
There seems to be little attempt at drawing lessons from each disaster, storing the knowledge for future
use, long term planning for possible pre- emptive action. Preparedness for disasters thus falls short of
what is possible using today's technologies.

Floods in many parts of India like the states of Bihar and Assam are a yearly phenomenon.
Yetthe government seems to be caught by surprise year after year. It is obvious that tarpaulins,
vaccines, medicines, clothes, satellite phones, large numbers of doctors and paramedical staff etc. will
be needed as will boats and buses for evacuation. This is known to all those who have combated
emergencies yet the non-availability of these essential services and commodities occur. Worse the
organizational structure and mechanisms for dealing with disasters are lethargic and ill defined. The
National Disaster Management Agency, set up a short time ago being a central government agency has
limitations relating to infringing the jurisdiction of states. It could have aggregated and disseminated
experiences and knowledge, stocked many of the essential items required in an emergency or worked
with agencies to ensure sufficient stocks, but hasn't.

While the reaction to major disasters is dismal, the response to emergencies like accidents
isequally sad. Victims lie unattended since passersby are wary of getting caught in a labyrinthine of
police and legal systems. The resulting delay in treatment converts injuries into deaths. Of late, a unique
and free service to provide assistance in emergency cases is operational. Emergency Management and
Research Institute (EMRI) is a professionally managed operation - initiated by the vision and a grant
from Ramalinga Raju. The service, which is a successful example of public private partnership is likely to
become operational in a few states in the near future. Given the sad failure of conventional government
organizations in handling disasters, it is time we looked at the PPP model as an alternative without the
government seeking in any way to abdicate its responsibility. While the state provides the funding,
private organizations will provide the drive, professionalism, competent management and output linked
efficiency of a good corporate organization. Combining the sensitivity and purpose of an NGO with
private entrepreneurial drive to handle disasters together is thus a worthwhile challenge for both
corporates and the government.

Q.176. Which of the following is NOT true in the context of the passage?

a)Man-made disasters occur more frequently than natural disasters.

b) The Public Private Participation model has been successful in handling emergencies.
c) Floods occur every year in some Indian states.

d) Analysis of previous disasters will help us cope with future ones.

e) People have become indifferent to disasters.

Q.177. Which of the following has been the customary government reaction to disasters?
(A) It has handled disasters with utmost sensitivity.

(B) It responds in a professional, efficient manner which has been standardised over time.
(C) It ensures monetary aid reaches those afflicted by disasters.

a) Only A

b) Only B

c)BothA&B

d) Only C
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e) None of these

Q.178. Why do bystanders not help accident victims?

a) They lack the necessary medical knowledge.

b) It is the responsibility of the driver of the vehicle.

c) Cumbersome police formalities

d) Medical attention via satellite phones can be provided promptly.
e) None of these

Q.179. Which of the following can be inferred about the National Disaster Management Agency?
(A) It has substantial experience in dealing with disasters.

(B) It has been successful in sharing information with other disaster management agencies.

(C) It disburses funds to disaster management organizations to procure emergency stocks.

a) None

b) AllA,B&C

c) Only A

d) BothA &B

e) None of these

Q.180. Why is there a lack of medical care at disaster sites?
a) Inadequate transportation facilities

b) Lack of disaster management training for medical staff
c) Loss of medical supplies due to dangerous conditions

d) Safety of medical staff cannot be assured

e) None of these

Q.181. What does the author consider "a worthwhile challenge for both corporates and the
government"?

a) Governments should gradually transfer disaster management to corporates.

b) Their working together to manage disasters competently keeping public interests in mind
c) Reducing the incidence of man-made disasters

d) Mitigating the financial losses sustained during natural disasters

e) None of these

Q.182. According to the passage, which of the following will be the likely impact/s of the public private
participation model of disaster management?

(A) Politicians will not be able to interfere with relief efforts.

(B) Aid will be effectively deployed.

(C) Professional approach to disaster management efforts.

a) Only A

b) BothB & C

c)AllA,B&C

d) Only C

e) None of these

Q.183. Which of the following has/have been the impact/s of consistently occurring natural disasters?
(A) The Government has initiated a long term planning process to handle them.
(B) Use of technology in combating disasters has increased in India.



For more materials visit www.educationobserver.com/forum

(C) The Government is not caught unawares when such disasters occur.
a) None

b) Only B

c)BothA&C

d)BothA &B

e)AllA,B&C

Q.184. Which of the following is TRUE about EMRI?
a) It is run by a philanthropist.

b) It has widespread operations all over India.

c) The government has no say in its functioning.

d) EMRI is a non-governmentalorganization.

e) It is an emergency management service.

Q.185. What is the author's view on the government's current reaction to natural disasters?
a) The government has not been able to handle disasters and should seek foreign aid.

b) A Central Government agency should be set up to speed up coordination in rescue efforts.
c) It has failed to utilize donations effectively to provide relief.

d) The government is apathetic and has not managed to handle disasters effectively.

e) None of these

Choose the word which is most similar in meaning to the word printed in bold as used in the
Q.186. pre-emptive

a)widespread

b)seizing

c)restrained

d) preventive

e)Jcommanding

Q.187. frequency
a)sound

b)habit
c)recurrence
d)average
e)occasion

Q.188. infringing
a)breaking
b)violating
c)provoking
d)hampering
e)disobeying

Choose the word which is most opposite in meaning to the word printed in bold as used in the passage.
Q.189. lethargic

a)healthy

b)active

c)favourable
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d)awake
e)intense

Q.190. dismal
a)depressing
b)upset
c)competent
d)animated
e)smiling

Which of the phrases a), b), c) and d) given below should replace the phrase given in bold in the
following sentence to make the sentence grammatically meaningful and correct? If the sentence is
correct as it is and no correction is required, mark e) as the answer.

Q.191. Last week the Committee summarily rejected their proposal for acquisition of the investment
bank.

a)have rejected in summary

b)summarily reject

c)is rejected summarily d) were summarily rejected

e) No correction required

Q.192. If he is fortunately to be successful, you should give something back to society.
a) Unless you are fortunate

b) If you are fortunate

c) By being fortunate

d) If you were fortunately

e) No correction required

Q.103. It is the crippling losses suffered by US banks have led to the current economic slump.
a)which have led to

b)that have led

c)leading into

d)havelead to

e) No correction required

Q.194. Public health facilities are scarcer since patients have to wait for hours to see a doctor.
a)too scarce for

b)very scarce because

c)so scarce that

d)quite scarce that

e) No correction required

Q.195. What impressed me most about him was that his commitment to his work as well as his family.
a)he was committed

b)that he is committed

c)he has committed for

d)his commitment to

e) No correction required
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In each question below a sentence with four words printed in bold type is given. These are numbered as
a), b), c) and d). One of these four words printed in bold may be either wrongly spelt or inappropriate in
the context of the sentence. Find out the word, which is wrongly spelt or inappropriate, if any. The
number of that word is your answer. If all the words printed in bold are correctly spelt and also
appropriate in the context of the sentence, mark e) i.e. 'All Correct' as your answer.

Q.196. The Finance Minister has impressed satisfaction over the progress made by regional rural banks.
a)impressed

b)satisfaction

c)progress

d) regional

e)All correct

Q.197. We plan to complete the exhaustive performance review undertook by us by next week.
a)exhaustive

b)performance

c)review

d)undertook

e)All correct

Q.198. If they want to maintain their current rate of expansion they have to consider these parameters.
a)maintain

b)expansion

c)consider

d)parameters

e)All correct

Q.199. India's overall trade deficit continues to be a major source of concern for analysts.
a)overall

b)deficit

c)continues

d)analyst

e)All correct

Q.200. Home loan borrowers will be definitely affected since banks have raised their lending rates of
a)borrowers

b)definitely

c)affected

d)lending

e)All correct

Rearrange the following six sentences (A), (B), (C), (D), (E) and (F) in the proper sequence to form and
meaningful paragraph; then answer the questions given below them.

(A) As a result the non-stop tensions and anxieties at work often result in health related problems.
(B) The truth is we cannot change the world of work.

(C) We spend at least half our waking hours at work.
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(D) We have therefore to take charge and transform the way in which we respond to
ourworkenvironment.

(E) So how can we control these problems and perform at work?

(F) However we can change the way we feel and deal with various situations.

Q.201. Which of the following should be the FOURTH sentence after rearrangement?
a)A
b) B
c)C
d)D
e)E

Q.202. Which of the following should be the LAST (SIXTH) sentence after rearrangement?
a)B
b) C
c)D
d)E
e)F

Q.203. When of the following should be the FIRST sentence after rearrangement?
a)A
b) B
c)C
d)D
e)E

Q.204. Which of the following should be the SECOND sentence after rearrangement?
a)A
b) B
c)C
d)D
e)E

Q.205. Which of the following should be the FIFTH sentence after rearrangement?
a)B
b) C
c)D
d)E
e)F

Read each sentence to find out whether there is any grammatical error in it. The error, if any, will be in
one part of the sentence. The number of that part is the answer. If there is no error, the answer is e)
i.e.'No error'. (Ignore the errors of punctuation, if any.)

Q.206. Road developers who are unable / to finish their projects / on time will not be /awarded new
ones.

a)Road developers who are unable

b)to finish their projects
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c)on time will not be
d)awarded new ones
e) No error

Q.207. Owing the new policy / we feel that the targets / set for this year /may not be achieved.
a)Owing the new policy

b)we feel that the targets

c)set for this year

d)may not be achieved

e)No error

Q.208. We have taken on / the responsibility of / arranging the required training /and supervise the new
staff.

a)We have taken on

b)the responsibility of

c)arranging the required training

d)and supervise the new staff

e)No error

Q.209. The government has signed / a memorandum of understanding with /the company to setup / a
plantin the state.

a)The government has signed

b)a memorandum of understanding with

c)the company to set up

d)a plantin the state

e)No error

Q.210. Since the lack of / manpower we cannot / conduct the survey / in rural areas.
a)Since the lack of

b)manpower we cannot

c)conduct the survey

d)in rural areas

e)No error

Q.211. These companies have been asked / to furnish their financial details / and information about /its
board members.

a)These companies have been asked

b)to furnish their financial details

c)and information about

d)its board members

e)No error

Q.212. The scheme which will be launched / during the next two years /require an additional
investmentof one hundred Crores.

a)The scheme which will be launched

b)during the next two years

c)require an additional investment
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d)of one hundred Crores
e)No error

Q.213. The data shows that / thee unemployment rate has / raised to 6.1 percent,/the highest in five
years.

a)The data shows that

b)thee unemployment rate has

c)raised to 6.1 percent

d)the highest in five years

e)No error

Q.214. Palm oil is very beneficial / and is use to / make products ranging / from soap to biodiesel.
a)Palm oil is very beneficial

b)and is use to

c)make products ranging

d)from soap to biodiesel

e)No error

Q.215. There are only / a few company / which can handle / projects of this magnitude.
a)There are only

b)a few company

c)which can handle

d)projects of this magnitude

e) No error

In the following passage, there are blanks, each of which has been numbered. These
numbersare printed below the passage and against each, five words are suggested, one of which fits the
blank appropriately. Find out the appropriate word in each case. Recently the World Bank and the Asian
Development Bank (ADB) (216) separate reports on poverty. The World Bank report (217) its benchmark
of extreme poverty by 25 cents from S1 per person per day to $ 1.25 per person a day. The ADB
announced an even (218) benchmark of $1.35 per person a day. These new benchmarks are (219) on
surveys in the world's poorest countries.

Experts often like to (220) that poverty has declined because of economic growth in India
andChina. This is wrong and (221). In the past twenty-five years the poverty rate in India has (222) by
less than one percentage point a year. (223) we use a poverty line of $1 per person per day or S 1.25 per
person per day makes little (224). The number of poor in India is large. The purpose of these statistics is
not to dispute them but to (225) whether the benefits of economic growth are being shared with the
poor.

Q.216.
a)print
b)issue
c)publish
d)declared
e)released

Q.217.
a)raised
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b)maintained
c)notified

d)heightened
e)announced

Q.218.
a)plausible
b)higher
c)lower
d)better
e)significant

Q.219.
a)inferred
b)derived
c)gathered
d)based
e)collected

Q.220.
a)discover
b)recommend
c)criticise
d)realise
e)claim

Q.221.
a)corrupt
b)rejected
c)misleading
d)adverse
e)opposing

Q.222.
a)declined
b)weaken
c)fell
d)deplete
e)plunge

Q.223.

a) Instead

b) Whether
c) Regardless
d) Unless

e) Despite

Q.224.
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a)contrast
b)question
c)option
d)difference
e)effect

Q.225.

a)care
b)inspire
c)study
d)acknowledge
e)suggest
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